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sl e I gl 70,579,534 100.0
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_11_
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et ANYS 27N 4,386,736 6.22
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2 B3 7| 688,879 0.98
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9,164,297 12.98
= 79 4] 5,473,321 7.75
AR e gz sy 3.687.976 5.23
Y A4 Sn) 3,000 0.00
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Ol &S Ol AFoH AE2 MEZIY
1. =0 ¥ XNYNISHH 3 36,673,627
1.1 30t 83 36.566,963I
1.1.2 2R FH| 36,566,963.
1.1.2.1 8 W4zl THE Z&4R 4| 36,566,963i1. eI ONEC= 36,566,963
1.1.4 %8 St 2 '
1.1.4.1 J1ef 2IH1EYZ
1.2 NYAXHH H3 106,664-
1.2.1 ANYHRSHH M2 106,664
1.2.1.2 NLXXHH &3 106,664:1. detd e %l'i.*ﬂ}’éi 26,666,000 4 0t &= 106.6641
2. Md=e=2 33,905,907
2.1 Uss8s Y 28,480,063
2.1.1 g3 384,050
2.1.1.1 CHEr A 330,030I1. CH&EHA &2 19592 170,000 330,030
2.1.1.2 Hs3 54,020I2. CHErR A &3 3002 +180,000& = 54,020
2.1.2 =8g 27,700,463
2.1.2.1 &AM 27,700.463I1. =2 F(1) 4,139,929,000&= 4,139,929]
2. 2212(2)
; Jb. &% 21,335,066,000&= 21,335,066
- Lt. CH&F& 2,225,468,0008= 2,225,468
2.1.3 HESI &5 245,000'
2.1.3.1 A& 42 L JEEA3 245,000-1. HEBESD| 2=
' b, StAHIHIEED| =25 35,000&+3,5108 &= | 122,850
ASAE WS 22 40,0003 x2455 & | 9,800
L. SHAHEED| =25 35,000&*3,0108 & 105,350
AEAE WIS 2= 40,0008 %1758 E 7,000
2.1.4 HNBIXNUE =25 150,550I
2.1.4.1 3 DZANNY 462 ¥ OB YU 150,550I1. 18J] S22 1,500,0008 #45% = 67,500
I2. 1801 &2 1,300,000& 5= 6.500
IS. 28t0| 52 1,500,000 x45%H= 67,500
I4. 28t)| S&=2 1,300,000& «5H= 6,500
‘5 &85 50,000@8«518= 2,550
2.2 BMuRI|I2 SEMO s 868,400.
2.2.1 &8 868,400-
2.2.1.1 BMNSI|H S 222 +¢ 868,400 1. HMHWKIHA 227,000,000& =28t J)= 454,000
I2. SYs1E 1,300,0008 208 *18|= 26,000
.3. O&td s =25 ME 350,000,000 *14l= 350,000
4, sgZBYXNIE WSHl 400,000 * 96H= 38,400
2.3 esi-EHMo 82 383,300.
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oA o &t o as2 pEo
2.3.1 HEZ2 383,300
2.3.1.1 &0l U8t F= S= MYEE 350,000I1. lstate| ot
b (OIZME) 5,008 2502 1,250
Lb. (LEFEE) 23,0008 %6,9708= 160,310
Ch. (LHHRE, PI&) 33,0008 +2,9808= 98,340
2h. (UBHEE, A1J]) 58,0008 +7002= 40,600
OF. (B2I5) 60,0002I%2002= 12,000
Hh. (SFSICHE!) 150,0008!%250%!= 37,500
2.3.1.2 hatRlol Y8t £ S=EX azgl 33,300-1. HMEE 60,0008 +*50H+18|= 3,000
| o USEEE 60,0008 +40% 13- 2,400
3. =SAAIR 100,002 158 x15]- 1,500
4. @EE 60,0008 102 +23|- 1,200
5. ®EZ 60,0008 1702 15]= 10,200
6. MHZ 60,0008+2502 = 15,000
2.4 =2MME 32,500
2.4.1 =28A2 32,500
2.4.1.1 LHEtRI0| =2AME 32,5001, =2 AIAIZ 10,0002 «152= 1,500
2. =SAAIR 100,008 «52 23] 1,000
3. =2AAME 10000024802 ~15]= 8,000
4. MA =2 AAR 1000008 +1002= 10,000
5. SAN =R AIAE 300,008 +40%= 2,000
25 NEB U 442 49 3,508,655
251 ABE 1,372,600
2.5.1.2 A0IBE +2(3F, BA) 380,000 1. A2} B2 350,000,008 ~1Al= 350,000
b romEdEm 5,000
L. DR2u 20,000
O AAESISA 5,000
2.5.1.4 =xtpz| 29 116,600 1. ZxI22l 42 116,600)
2.5.1.5 AZOIBE 4 816,000 1. AIE42! 68,000,008~ 128 816,000
2.5.1.6 Il 29 S 60,000 1. XHEI|421S 30,000,000 %231 60,000
2.5.3 St AIBE 2,131,055
2.5.3.1 ST =A AIRE 2,131,055 1. 22l
ENETEE
1) 130)
Ob) 2T 3,2008 #2288 #1102 80,256
Lb) &2122 3,6002141382 «1102= 54,648
CH) 221,32 3,600 +3842 41102 152,064
21) BRB(SE) 5,402 +128 1102 7,128
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oI 0o &k o8 A R
OF) =IO AR @ 3,6008%x362H %1102 = 13,860
'2) 287
JF) HE23 3,200 +228Fx112e = 81,716
.Lf) gkalpat 3,600 %138 »112L= 55,642
C) £21,32 3,60021x3848~1122= 154,829
1) BUB(SE) 54008122 1122= 7,256
0F) EIHIAIT 36008 %352 x1122= 4,112
U, =gz
1) =34
91) WEI|Z 5, 4008 +450% x552= 133,650
.Ll‘) HE&D| 5,4008 %1302 25 = 17,550
‘EH WS 5,4003x20H »20L = 2,160
O elmolan
-1) Sl 8,0008*450H x5 = 18,000
-2) SH(EUAMHS) 7,000 +150H»30L = 31,500
EREETESS
1) HAEE 15,0008 24 ¥1002= 3,000
2) QHAIZA 10,0008 ~42* 182 720
2. 3z
SR L
1) 18J]
jf) HSP 1,760 x228H #3244 = 130,015
.Lf) SFElp2 1,760 #120H x3244A!= 68,429
-CH 8kel1,32 1,7603 %3522 3244 200,725
cl) SFRZAEZ 11,7602 +12H 3244 6,843
-Df) FOIL AT 1,760 «35H #324 4] = 19,959
IHI’) DAE 1,7603 45 %324 A 25,661
2)28t 0|
Jb) 221 ,760Rx228EH 318 127,608]
Lb) S22 1,760R %120 *3184!= 67,162
CF) BE1,32 1,7602 3522 +3184!= 197,008
O BEBSE 1,7608~122318A 6,717
2t) =YK 1,760 «352*31841= 19,589
0F) DA 17602 %452 31841 25, 186
L. SeRa
1) 8
JF) grskD[2t 2,000 *3902 16 126, 360)
LE) HIESD| 2,0008 %130 *724 18,720




Oll &F 2} S Oi] &k 4 ME2A MEZH
CH) RIS 2,0008 «20H«574]= 2,280)
'ar) DAY 2,0008 *40% 1624]= 12,960
2)S Al
ID}) 2h&t |2k 2,000 *3902 * 147 4] = 114,660
'u) AHEED| 2,0009 «130Y 7241= 18,720
'l:r) WEHER 2,0002+20F*574!= 2,280
_‘af) DAY 2,0008+40 » 14741 = 11,760
o HNAES 71,0008 «10Y* 1204 2= 8,520
IEL 2R HM
‘1) SHAI 3,000 *430 *1541= 19,350
‘2) SHA(ELAIZE S) 2,000 %150 »874l= 26,100
:3) S 3,0008 x450% * 154! = 20,250,
'4) SH(ELARZ S) 2,000 +150 +87A!= 26,100
2.8 23 HZRES M2 500,000‘
2.8.1 Metgacs|y M3 200,000;
2.8.1.1 MBEHTEH MY 200,000;1 AtstEBICH A3 200,000,000 %14!= 200,000
2.8.2 2FI33H MNYS | 300,000'
2.8.2.1 228K Y2 300,000/1. 2AI|S(ME) LS 300,000,0008 «14l= 300,000
2.9 Ol Xt4=¢l 32,845;
2.9.1 201X 49 32,845
2.9.1.1 201X 4 32,845 1 0IXt==2 S(A) 25,000,0008= 25,000
Jb. OI20IA =2 6,845,000& *13}= 6,845
Lk, OIZ20IX 42 1,000,0008 «13|= 1,000|
2.11 O %9 49 105, 144
2.11.1 MME Jf2L2g 52,044
24111 DUANESE Mas MASHIZ4 52,044.1. SEsH AZES(H) B 1,530,000 x14l= 1.%)
o masm 20| &S () BHOH 2,118,000 ~14l= 2,118
3, SSAFSE JFETHOH 2,000,0008 *123] 24,000
4. SSABE LEE0H 2,033,0008%123]= 24,396
2.11.5 &3¢l 53,100
2.11.5.1 245 #Ab SOl 28t 22 53,100'1. &+ (ME=) 25,000,0008= 25,000
2. KDl A2 2 800,000 *123]= 9,600
3. EFAEE 10,0009 +250Y= 2,500
4. EGPE £+ 200,0002+88= 1,600
5. MEHSA =2 1,200,000 128 = 14,400
70,579,534 70,579,534
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ot TS ol &t s sz
AtR2 = 19,391,333
. QI AH| 9,119,467
1.1 elAy| 7,445,667 |
1.1.1 SE|2Ab| : 4, 513 912?
1.1.1.1 22 _- 4,504, 290 Jb. i3 H) °._'a.|-:1| 4,504,290,000& x1&l= 4,504,290]
1.1.1.9 HIIEAH| & ! 9.622?}. o3| H QIAH] 9,622,0008 x14l= 9,622
1.2 EaNEY S oAHl | 2,862,005 ‘
1.1.2.1 é—’-‘-(ﬁﬂi*ilﬁl’—‘!% Q1Adl) : 1,543,294 JF. CHESIHIAE 20 2,990,880%43H =123 : 1,543,294
1.1.2.2 S=2(0HEH3| HAA o121H]) ] 844,4615}. ik A= & QE;\- & 1,437,330%43Y *23| 123,610
L. DssER Basg Jtaa
:— 5~0E : 50,000%2H *x123|= . 1,200
-— 10~14E : 60,000%*3H*x125]= ‘ 2,160
— 15;195' 1 80,000%1¥*123|= 960
.— 20~24" : 110,000x156Y *123]= 19,800}
: :— 2583 O]Ab @ 130,000%202*123]= 28,600
| O OEENER =L
‘- Hi Xt 40,000%41H *123|= 19,680
}- 22X 20,000%1102 x123]= _ 26,400
ot CHBISIMNE XHASHHI® RS 360,000%158 *43l= | 21,600
I '_'m.' HSBHNE (R4 124,80052«1181= | 6,968
| b OENEE 2DE24Y
- 93 AtE 7,573x5EH »2403|= 9,088}
”— 82 At 8,377*x3H*2403|= 6,031
- 72 &Y 9,331x353Hx24038]= : 83,420)
A CHBEAEE HDIHAE
- MAPRAT 50,000%1+113]- 550
- Y242 20,000+32*113]= 660
- 0l3 & s&EA2E 20,000 x2H*113]= 440
- HYUFU (Y HGE, SSMSE) £ 120,000&+»7H*113]= 9,240
OF. &8 & s252 4t 20,000,000-?_4*1%*1§I=I 20,000
. CHSBIHRA FATA 130,0008 +438+125]= | 67,080
T USSR RSREH 1350008432 128/ 69,660
b, tets| A= HESIH) 1,827,500) #43%H +25)= 158,714
Et. CHEISI A2 R SO AHl 75,000 #4328 +123]= 38,700
ok, e A& duato= 130,000
1.1.2.3 22 (JIEFA LA R 01AHH]) 473,160 JF. 224 20 2,823,000&*10H*125|= 338,760
Lb. JIERHSERE o121t
- DERALFR 21 AHH| 1,500,000+ 1H*123]= 18,000
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SXE Aol
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158,000
33,900

33,9007, AW+
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SE2H
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Lt.

4,320

4,320 7}

5,500

200! Jt.
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SEZH
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25,0008 x 12128 =
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HE X2 At & SE I (AH) 100,000 7 2 #38]= |

HIEITIRALS AR BE (AL) 250,0008#58]= |
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MEITIEALR 2 (A) 300,0008%431= |
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HIZSHEZH02 2E (A 1,420,000%*151%

|
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197,720
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HERADR AA2AH[ (S AH) 1,900,000 *1H 1270 2= 22,800
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3.1.13.1 3letl

3.1.10.4 dAR2HE S|

ol & 10k 5
1.1.3 €822
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12,700; -
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11,5000, HOH= EX HEI3 11,500,0008x131x 1=
1,200 |
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22,700
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7-,000-7P. 74|c%”5.'. AALE JARLE2S 1, 400 000 J*5%‘*UH‘é:
3,500:-}. HeX NEHE JAL2H=S 700, 00004*50"*17H£_
1.700-7}. HeER MAES JAEE2 340, OOOOJ*SC”*UHE_
SOOIJF A HIQAHE IS 100,000 «5H 1 &=
69,068, |
69,068 |
9,450| |
8,750.3|'. HEAARE 2 L 22! 100,000 +23/« 120 &= [
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O BAREI (B42 S) 50,0008+03]x5H x|
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700|7b. ZESCIS HE QIAH| 70,0002 J*zmeg:i
150/ '
1507}, BAVEDRE SERI 10,0002 +33/«5H B~ |
243 - |
243|0F. SRS MEEES B8 = 243,000 +13 101 &=
5,000
5,000/ 2t. WeIZNSA NA nsHLHl 150, OOO°J*29_|*1O)Hé—.
.LP. W EZWEHE IS MEIZHl 1,000,000 %15 x27 =
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42 480 1. HAAIAEHSIESEH 3,540,000& 138« 1201 &=
480 OF, BAIIQN SS9 20,0008 +25]* 124 8=
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4,965 7. DYIIZDSH SLHOIHI 97,0008 +158«35l=
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3.1.6.3 JIH&EX
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3.1.12.1 ZLHGHI
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40,000
40,000
40,000
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74,770

13,400
13,400

36.750:
36.750.
4,000
4,000
3,000
3.000
2,500

3,150
3,150
1,670
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&dE2H
g2lal M3l 350,000 43| x 1 &=

Ct. 2&

o, (HEsI) e AR
» 15A|2t = 35,0008 * 38 =

2) AZFZAH(EE) 38HE « 15A12¢ » 38,0008 * 288 =|
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|

o (ARSI SHs nie ¥ SEAS AT +~g |

o (HEED]) 29 XA (AY) |
1) HESDIIE NEA L oHEX 2L 800,000# * 23 |
2) HESIIE oy 228 7

500,000& * 4%]

3) AESED) 29 Stuiis A2E K@ 300,0008 * 63| =

b (HESD]) 3323 RES(15%)
Jh (BN SIAS S E 100,008 « 408 * 18] =
b (IESI)) RABAM AR} 421 300,008 « 53] + 23] =

Jh (AZEsD]) stArg A s &0tdl 500,0008 « 28 * 23] =

Lb. (HZES]) stALE ™ MIDIRE 2ldl 500,0008 * 13] =
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I, U
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1.2.0.6 TN2 S 3,000 Jb. M SDTAT 1,500,0002+2% = 3,000
1.3 AlHIBA OIX | 1,000
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1.4.1.6 JIE} 2= 205,000 Jt. BEMO= 22s 102,500,000 x2&2| = 205,000
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2

= 144,000&258| =

SHEMNSRAF /3| 1,000,000 «15] =
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4.3.2 SEXNY FHEH|
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ZZJ# S S04 3,000,0008 =

*ZZI|X L& HHES 8,650,000 %2817| =

HHA MNP Z 2,340,000 x4H #1204 2=

gEIo
1,800]

4,500
1,000
2,000

2,000
4, 000|
4,000

5,280}

1,000
1,500
1,000

4,800
1,200
1,200
1,000

800

3,000
3,OOOL

S'OOOW

17,300

112,320
159,462




Ol &t 1t =5

1.1.2.4 =& Ol LA o1AH]) |

il

1.1.3.1 =4S IRst= A= st E—¢—|

1.2 SCIZ MY

1.2.1 EI&30

1.2.1.2 JIE} HAX = gxI0H |

1.2.2 Sci=4H|
1.2.2.1 II=Hi

1.2.2.2

1.2.2.3 =2l

1.2.2.4 S¥5E=XH|

1.2.2.6 Zat=a S

AlYlB A oIE |

1.3.2 JIE+ AlHIBIA QIF A
1.3.2.1 39 & 9IRS £

S IE= T

1.5.1 22
1.5.1.1 201012 23
1.5.1.2 A28 22

0 & 2 asa
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